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— 1 510 >4 —>811—>1—>3—>2—>7—>9— (G —>> C1,C5,C8
Cyq C10 C11 C3 C2 C7 C9 Ce

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (3.06173 x 10%04°® — 4.84579 x 10%04°7 + - - 4 7.53869 x 10°°b — 6.50731 x 10%,

3.66584 x 10%04°8 — 7.89631 x 1050457 4 - -+ + 7.53869 x 10500 — 4.93339 x 1050, 4% — 2u°% + ...

I3 =(3b—2,3a—1, u—1)

* 2 irreducible components of dim¢ = 0, with total 60 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

—2u+1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.

I = (3.06 X 1059u5® — 4.85 x 10%0u®7 4-- . - 4 7.54 X 105°b — 6.51 x 10%°, 3.67 X

1050458 —7.90 X 100457+ - -+ 7.54 X 100 —4.93 X 1060, 5% — 2458 4. .

(i) Arc colorings
1
as
aio = )

—0.486270u%8 4 1.04744u%7 + - - - — 3.97604u + 0.654410
—0.406136u® + 0.642788u°7 + - - - 4+ 0.0112412u + 0.863189

ud +u>

0.162396u°® — 0.0414876u>7 + - - - — 0.620453u + 0.289562>

ay = (o 264365u°® — 0.566519u°" + - - - — 0.385454u — 0.631376

So -

u +1
ut + 2u?

—0.418108u® + 0.310255u°7 + - - - — 0.686190u + 0.663142)

asz =
az = \ —0.104972u°8 + 0.436443u>" + - - - — 0.736202u + 0.995922

—0.892406u°8 + 1.69023u®7 + - - - — 3.96480u + 1.51760
—0.406136u® + 0.642788u°7 + - - - 4+ 0.0112412u + 0.863189

—0.855262u%8 + 1.72021u%7 + - - - — 3.82594u + 1.72628
—0.432378u5® 4+ 0.672814u%7 + - - - + 1.00305u + 0.933233

—0.0187345u°® — 0.208269u°7 4 - - - — 0.169215u — 0.637633
ag = \ —0.0593368u°® + 0.0928833u57 + - -- — 1.26241u — 0.102333

—0.0187345u58 — 0.208269u’" + - -+ — 0.169215u — 0.637633
as = \ —0.0593368u® + 0.0928833u5" + - - - — 1.26241u — 0.102333

a7 =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 0.834501u’® — 3.42749u°7 + - - — 17.5070u — 8.87218

-—2u+1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs W =2 21
2 w4+ 24u” 4o —du—1
c3,C4,C10 W+ —2u—1
Cg, Co w2 —32u—9
¢ 3(3u? 4 29u”® + - - - + 96336u — 7216)
Cs 3(3u® — 44u°® + - - — 96u — 64)
ci1 u? — 5u”® + -+ 4+ 108u — 18




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,¢5 Y0 24y 4y — 1

€2 y* +16y°° + - = T6y — 1
€3, €4, C10 v +60y°° + - —dy — 1

C6, Co y°0 — 44y°8 + ... 4 3472y — 81
cr 9(9y°? — 787y + .- 4+ 4.57874 x 10%y — 5.20707 x 107)
Cs 9(9y°? — 424958 + - .- — 148480y — 4096)
11 y* + 9y 4 ... — 6300y — 324




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u= 0.772835 + 0.6301697
a = 0.486457 4 0.4085601 | —2.98475 + 11.823701 0. —9.151601
b= —1.20441 4 0.806931
u= 0.772835 — 0.6301691
a = 0.486457 — 0.4085601 | —2.98475 — 11.823701 0.4 9.151601
b= —1.20441 — 0.806931
u=0.893809 + 0.4622021
a = —0.354680 + 0.5935551 | —2.42227 — 6.381331 0
b= —0.839382 — 0.3171771
u=0.893809 — 0.4622021
a = —0.354680 — 0.5935551 | —2.42227 4 6.381331 0
b= —0.839382 + 0.3171771
u = —0.769320 + 0.6653581
a = —0.399111 4+ 0.3298781 | —0.73398 — 6.052541 0
b= 1.017530 + 0.7584041
u = —0.769320 — 0.6653581
a = —0.399111 — 0.3298781 | —0.73398 + 6.052541 0
b= 1.017530 — 0.7584041
u= 0.871014 + 0.6434451
a 0.171049 + 0.4837861 | —7.08101 + 2.985881 0
b= —1.045410 + 0.3276931
u= 0.871014 — 0.6434451
a= 0.171049 — 0.4837861 | —7.08101 — 2.985881 0
b= —1.045410 — 0.3276931
u = —1.058830 + 0.4067991
a= 0.273276 + 0.3034831 0.196305 + 0.3790801 0
b= 0.621331 — 0.0833801
u = —1.058830 — 0.4067991
a= 0.273276 — 0.3034831 0.196305 — 0.3790801 0
b

= 0.621331 4 0.0833801




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.421425 + 0.6522531
= —0.229200 — 0.1915471
0.073389 + 0.9366031

1.67726 — 2.087831

6.30981 + 5.412161

—0.421425 — 0.6522531
= —0.229200 + 0.1915471
0.073389 — 0.9366031

1.67726 + 2.087831

6.30981 — 5.412161

0.538558 + 0.4342521
= —1.52889 — 0.285601
0.560561 — 0.856660.1

1.09865 + 6.46666.1

3.55713 — 8.785361

0.538558 — 0.4342521
—1.52889 + 0.285601
0.560561 + 0.8566601

1.09865 — 6.466661

3.55713 + 8.785361

—0.564831 + 0.3826661
= 1.263980 — 0.1434091
= —0.352394 — 0.7268891

2.45484 — 1.464861

7.14865 + 3.007111

—0.564831 — 0.3826661
1.263980 + 0.1434091
—0.352394 4 0.7268891

2.45484 +1.464861

7.14865 — 3.007111

0.407938 + 0.4951941
0.234399 — 0.3768421
0.290086 + 1.0441801

0.82881 — 3.060301

4.18689 + 0.599371

0.407938 — 0.4951941
0.234399 + 0.3768421
0.290086 — 1.0441801

0.82881 + 3.060301

4.18689 — 0.599371

—0.133674 + 1.4006001

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

= 1.029390 — 0.2976891 | —3.80970 — 2.303891 0
= —0.654687 + 0.2908261
= —0.133674 — 1.4006001
= 1.029390 + 0.2976891 | —3.80970 + 2.303891 0

= —0.654687 — 0.2908261




Solutions to I V—1(vol + /—1CS) Cusp shape
u= 0.065188 + 1.4105107
a = —0.86471 — 1.341957 —5.12435 — 1.845371 0
b= 0.80222 + 1.225891
u = 0.065188 — 1.4105101
a = —0.86471 + 1.341951 —5.12435 + 1.845371 0

b= 0.80222 — 1.225891

u = —0.240543 + 0.5359151
a= 1.08834 —2.331071
b= —1.011390 + 0.0033141

—3.33182 — 4.553451

—4.30626 + 8.527361

u = —0.240543 — 0.5359151
a= 1.08834+2.331071
b= —1.011390 — 0.0033141

—3.33182 + 4.553451

—4.30626 — 8.527361

u= 0.01950 + 1.432511

a = —6.58810 + 3.579641 —6.55441 + 2.125521 0
b= 6.56362 —4.274401
u= 0.01950 — 1.432511
a = —6.58810 — 3.579641 —6.55441 — 2.125521 0

b= 6.56362 + 4.274401

u = —0.087504 + 0.5468581
a= 0.39073 — 2.814111
b= —0.423741 + 0.2273361

—4.10264 + 1.330871

—6.62416 — 1.439221

u = —0.087504 — 0.5468581
a= 0.39073 +2.814111
b= —0.423741 — 0.2273361

—4.10264 — 1.330871

—6.62416 + 1.439221

u = —0.541912
a= 0.611273
b= —0.123892

0.892681

11.5980

u= 0.356131 + 0.4017111
a = —0.91403 — 1.199111
b= 0.886772 — 0.3159411

—1.79094 + 1.038491

—2.00439 — 5.378441




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.356131 — 0.4017111
—0.91403 + 1.199111
0.886772 + 0.3159411

—1.79094 — 1.038491

—2.00439 + 5.378441

—0.15816 + 1.472521
1.59643 + 0.267881
= —0.817080 — 0.3660101

—3.60110 — 3.996931

= —0.15816 — 1.47252]

= —0.817080 + 0.3660101

—3.60110 + 3.996931

= 0.10761 4 1.483431
= —1.90601 — 0.153411
= 1.253580 — 0.3263671

—17.99699 + 2.708521

0.10761 — 1.483431
= —1.90601 4 0.153411

u
a
b
u
a
b
u
a= 1.59643 —0.267881
b
u
a
b
u
a
b= 1.253580 + 0.3263671

—7.99699 — 2.708521

0.04741 + 1.497201
a = —1.53150 — 0.052751
b= 1.18789 —0.846771

—8.07186 + 1.714481

u = 0.04741 — 1.497201
a = —1.53150 + 0.052751
b= 1.18789 + 0.846771

—8.07186 — 1.714481

u=0.15594 + 1.492851
a = —1.83827 + 0.363661
b= 0.915367 — 0.5301371

—5.23405 + 8.928541

u= 0.15594 — 1.49285]
a = —1.83827 — 0.363661
b= 0.915367 + 0.5301371

—5.23405 — 8.928541

u = —0.05816 + 1.522271
a= 1.62424 —0.579131
b= —1.082160 — 0.4738361

—10.18440 — 5.571971




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.05816 — 1.522271
1.62424 + 0.579131
b= —1.082160 + 0.4738361

a =

—10.18440 4 5.571971

u = —0.02356 + 1.523221
0.755412 — 0.5730271
b= —0.529705 — 0.6159621

a =

—10.99430 4+ 0.939111

—0.02356 — 1.523221
0.755412 + 0.5730271
—0.529705 4 0.6159621

S
|

—10.99430 — 0.939111

0.226157 + 0.3998811
—0.44978 — 1.857941
0.880240 — 0.2893531

—1.71907 + 0.847141

—1.58416 — 2.448251

0.226157 — 0.3998811
—0.44978 + 1.857941
0.880240 + 0.2893531

—1.71907 — 0.847141

—1.58416 + 2.448251

0.338130 + 0.2339771
0.284402 — 0.9061491
1.53304 + 0.156441

—1.34852 + 1.214341

—0.61490 — 9.362801

0.338130 — 0.2339771
0.284402 + 0.9061491
1.53304 — 0.156441

> Q& €|l & €| & &> & | &
|

—1.34852 — 1.214341

—0.61490 + 9.362801

0.25843 + 1.574421
1.86661 — 0.093631
—1.66038 + 1.058951

—10.2296 + 15.64141

0.25843 — 1.574421
1.86661 + 0.093631
—1.66038 — 1.058951

—10.2296 — 15.64141

—0.25542 + 1.582551
—1.69347 — 0.159771
1.51201 + 1.067311

>~ Q@ €| & €| & &
Il

—8.11873 — 9.859591




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —0.25542 — 1.582551
—1.69347 + 0.159771
1.51201 — 1.067311

—8.11873 + 9.859591

0.27503 + 1.589991

—1.41360 + 0.763451

—14.4364 + 7.16491

= 0.27503 — 1.589991
= 1.46114 —0.160667

U
a
b
U
a= 146114+ 0.160661
b
U
a
b= —1.41360 — 0.763451

—14.4364 — 7.16491

u = —0.359471 + 0.1000841
a = —0.622900 — 0.4923361
b = —2.26496 + 0.099751

—2.01075 + 2.521081

10.02369 + 7.466161

u = —0.359471 — 0.1000841
a = —0.622900 + 0.4923361
b= —2.26496 — 0.099751

—2.01075 — 2.521081

10.02369 — 7.466161

u= 0.34658 4 1.625181
a= 0.678378 4+ 0.2419081
b = —0.828238 + 0.4858991

—9.14972 — 1.517521

u= 0.34658 — 1.625181
a= 0.678378 — 0.2419081
b = —0.828238 — 0.4858991

—9.14972 4 1.517521

u = —0.27841 4 1.645081
a = —0.922544 — 0.0984751
b= 0.925175 + 0.8261501

—7.26563 — 4.898511

u = —0.27841 — 1.645081
a = —0.922544 + 0.0984751
b= 0.925175 — 0.8261501

—7.26563 4 4.898511
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I I} =(3b—2,3a—1, u—1)

(i) Arc colorings

ag =

ayq = (
0.333333
ag = \ 0.666667
1
a1 = \ 2
1
ayp = 2
2
as = 3
1
az = \1
1
a7 = \0.666667
1
ag = \ 1.66667

e ()

(ii) Obstruction class =1

(iii) Cusp Shapes = —7.11111

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9, C10 U+ 1
C2,C3,C4 u—1
Cs5, Co
7 3(3u+2)
€8 3(3u+1)
C11 u

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4, Cs5, Ce Y- 1
Cy, C10
“ 99 —4)
Cs 99y — 1)
C11 )

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = 1.00000
a= 0.333333 0 —7.11110
b= 0.666667

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u+ 1) — 20" + - 4+ 2u—1)

€2 (u—1)(u® + 240 4 - - — 4u — 1)
3, Cq (w—1)(u®® 4+ 2u® + - —2u—1)

5 (w—1)(u®® —2u® - 4 2u—1)

Co (w—1)(u®® — 2u®® + .- — 32u —9)

¢ 9(3u + 2)(3u + 29u®® + - - + 96336u — 7216)
c8 9(3u + 1)(3u® — 44u® + - .- — 96u — 64)

Co (u+1)(u®® — 2u®® + .- — 32u —9)

c10 (u+1)(u® 4208 4 - — 2u — 1)

c11 u(u® —5u°® + - + 108u — 18)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cs (=D + 24y + - —dy — 1)
€2 (y— D)™ +16y°° +--- — 76y — 1)
€3, €45 C10 (y = )(y*° +60y°° + - — 4y — 1)
C6, Co (y — 1)(y° — 449°® + - - - + 3472y — 81)
cr 81(9y — 4)(9y® — 787y 4 ... + 4.57874 x 10% — 5.20707 x 107)
c8 81(9y — 1)(9y* — 424y°® + - - - — 148480y — 4096)
c11 y(y°? + 9y°® + - — 6300y — 324)

16



